500

400

300

200

100

400
350
300
250
200
150
100

X
=
o

ol PR

15 2 25 3 35

_b-lllllllll|IIII|IIII|IIII

P /P [0GeV,30GeV]

-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIT

o
40 50
P*°[GeV]

X

1=

IS)
©

1800
1600
1400
1200
1000
800
600
400
200

oO

.10. -

.20. -

a1
obou

30 40
P"[GeV]



OO

X

PP PP FEFEE BT BT S 1o
02040608 1 12141618 2

truth

/P, [30GeV,45GeV]

—
(=]
1

HTTyTTT T[T T[T T TTIryTrrIT I Ty
(R R R R R L

-III|III|IIIIIIIIIIIlIIIlIIIlIIIIIIIIII—

=
of

~
of

50 60
Preo[GeV]

240
220
200
180
160
140
120
100
80
60
40
20

=

X

=
(=]
1

-lII|III|III|III|III|III|III|III|III|III|III|III

o.

~
ol




X
1=
@]

)

450
400
350
300
250
200
150
100

50

PR P PR EPEEE B B, Pl IR P
040608 1 12141618 2

P[eco truth [45GeV,60GeV]

300

250

200

150

100

50

o
Nr
of

30 40 50 60 70 80 90 100
P*°[GeV]

450

400
350
300
250
200
150
100

50

20730 40 50 60 70 80 90 100
P"[GeV]



]

6

X
J=
10O

=
1<

2000
1800
1600
1400
1200
1000
800
600
400
200

1000

800

600

400

200

IIIIIIIIIIIIIIIIIIIII_
III|III|III|III|III|III|III|III|III|IIII-

o

B_III|III|III|III|III|III|III|III|III|III+

Sh

N PR P MR R R
40 60 80 100 120
P /P [60GeV,75GeV] PMGeV]

02

X
—
1<
)

700 ot r T
600
500
400
300
200

100

B_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

o

| IR
100 120
P*°[GeV]



11X

1=
1O
©

1=
o
i el

e )
oON D O O

N D O O

24
22
20
18
16
14
12
10

IIIIIIlIII|III|III|III|III|III|III|IIII-
_III|III|III|III|III|III|III|III|III|III|III|III|_x

-III|III|III|III|III|III|III|III|III|III|III|III'-

oON B O

OO

X

P PR PR | il B BT | PP PP P N PR P N M I BT B
02 040608 1 12 1.4 16 1.8 2 40 60 80 100 120 140
P /P [75GeV,90GeV] P GeV]

_IIIIIIIIIIIIIIIIIIIIIIIIIIII_

=
o

4 ©

-III|IIIIIIIIIIIlIIIlIIIlIII"

P | I
40 60 80 100 120 140
P*°[GeV]



X
1=
1O

©

60

50

40

30

20

10

OO

PP BRI PR PR B | Pl B R
02040608 1 12141618 2

P{ecolptruth [QOGeV1 125GeV]

X
Y
(=]

30

25

20

15

10

4 ©

o
B
of

M| rill BT R B | | IR B
60 80 100 120 140 160 180 200

P*°[GeV]

30

25

20

15

10

4 ©

=
(=)

IIII|IIII|IIII|IIII|IIII|IIII|III.X

PP RPN EPEPEE Y PPN PRI B EPE PR EPEPE B
40 60 80 100 120 140 160 180 200
P"[GeV]



X
=
o

1o

60

50

40

30

20

10

OO

PP BRI PR PEFEE B PP PP PR
02040608 1 12141618 2

PI*/P" [125GeV,160GeV]

=
o

4 ©

35

30

25

20

15

10

-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII-

-IIII|IIIIIIIII|IIII|IIII|IIII|IIIII-

100

PR IR
150

| I
200

PRI B
250
P*°[GeV]

35
30
25
20
15
10

a1
o

PR
100

PRREPE B B
150

P IR R
200 250
P"[GeV]



X
[
1©
©
X
[
(=]

1 ©

40
35
30
25
20
15
10

1

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IT

-|III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I'|

OO

o
S

P PR EPEETE A AP P PR EPEETE A PP B | M P PR RS SR N
02040608 1 12 1.4 16 1.8 2 100 150 200 250 300
P*°/P™" [160GeV,185GeV] P GeV]

t

X
iR
(=]

1 ©

IIIIIIIIIIIIIIIIIIIIIIIIIIIIII'!'

PRI i PR R T N PRI BT
100 150 200 250 300
P*°[GeV]

uf2
o



X
1=
1O

©

35
30
25
20
15
10

\

OO

PP PP PR P BPErEre. RPN PR B
02040608 1 12141618 2

P/ [185GeV,240GeV]

X
1~
i)

4 ©

24
22
20
18
16
14
12
10

IIIIIIIIIIIII|III|III|III|III|III|III|III|III|—

oON B O

PR
100

L PRI BT | PE'EN BRI B
150 200 250 300 350 400

P*°[GeV]

X
=
10
)

50

40

30

20

10

PSS P
100 150

N P PR B P BT B |
200 250 300 350 400

P"[GeV]



X
[
1©
©
X
[
(=]

7000

{

14
6000

12
10

5000
4000
3000

2000

N b~ O

1000

P PR EPEETE A sl PR R i T Y o § SFSrSl SFEFErErSl SPEErarel SPErarS B AT I-l ................
02040608 1 12 1.4 16 1.8 2 100 150 200 250 300 350 400 450 500
PI*/P™™ [240GeV,300GeV] P GeV]

t t

OO
o

X
1=

(@]
1™

6000

5000

4000

3000

2000

1000

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIllI.
IIII|IIII|IIII|IIII|IIII|IIII|III_I

100 150 200 250 300 350 400 450 500
P*°[GeV]



X

1=
1O
©

22
20
18
16
14
12
10

N b O

o

o

X

PP PP PR PR MRS BPEErE BPETErE B
02040608 1 12141618 2

P/ [300GeV,380GeV]

8000
7000
6000
5000
4000
3000
2000
1000

JIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIl.L

j=
(=)
1

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I|'

<)

o

ot

PR |
200

P P PR R
300 400 500 600
P*°[GeV]

i=
(=]
L )

9000
8000
7000
6000
5000
4000
3000
2000
1000

JIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII_I,

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIII'

o
o
o

PRI TS a | I I B S
200 300 400 500 600

P"[GeV]



X
[5xY
o

©
11X
1=
1o

[=2]

o5 10000

20 8000

15 6000

10 4000

2000

P PR EPEETE A sl ey PP EEPEE BT ..I....I...[I....I....I....I....I_
02040608 1 12 1.4 16 1.8 2 200 300 400 500 600 700 800
P/ [380GeV,480GeV] P GeV]

OO

X
1=
10
1

10000

8000

6000

4000

2000

PR PP PR P R R |
200 300 400 500 600 700 800
P*°[GeV]



X
1=
1O

©

12

10

L :

62040608 1 12141618 2 300 300 400 500 600 700 800 900 1000
P/ [480GeV,600GeV] P GeV]

OO

6000 p=F Prrrrrrr e
5000
4000
3000
2000

1000

o

200 300 400 500 600 700 800 900 1000
P*°[GeV]



X
[
(=]

©

X
[

1S
)

14 5000
12

10

4000

3000

(<2

2000

1000

N D

[e]
_IIIIIIIIIIIIIIIIIIIIIIIIIIIIII_

L

P PR EPEETE A sl P B PR B | R R | BT B ST R R
02040608 1 12 1.4 16 1.8 2 Q00 400 600 800 1000 1200
PI*/P" [600GeV,760GeV] P GeV]

OO

X

[
1S
1™

5000

4000

3000

2000

1000

o_llIIIIIIIIIIIIIIIIIIIIIlI.L

PR | i R | P T
400 600 800 1000 1200
P*°[GeV]

N=}
S



X
[5xY
(@)

©
1X
1=
1o

©

r T T T L L T T T ] [T T T T T T T T T ]
60 -] C ]
C 3 12— -
50F - C ]
F 3 10~ -
40 . r ]
C ] 8_— =
*F E oF .
20F- E 4 =
10 :— —: ) .
0:. J LL_L .: 0:. M BT | PR R IS BT PR B I:
002 040608 1 12 141618 2 400 600 800 100012001400160018002000
P*°/P{"" [760GeV,1200GeV] PMGeV]
x10°
ML T T T T T T T ]
121~ -
10 -
8f- -
6F -
a4 =
2F -
L. .1 P PP BT B RIS BT B
0™400 600 800 100012001400160018002000

P*°[GeV]



70

60

50

40

30

20

10

24
22
20
18
16
14
12
10

=
1o

©

II|III|III|III|III|III|III|III|III|III|III|III.I-

.III|III|III|III|III|III|III|III|III|III|III|III|_x

oON B O

OO

PRI PRI | BT NS S S S
1000 1500 2000 2500
P"[GeV]

a
oF
ol

P EPEPETE BPETET P PP EEPEE BT
02 04 06 08 1 1.2 1.4 1.6 1.8 2
P/ [1200GeV, 1500GeV]

20
18
16
14

12
10

o N B O O

X
[
(=]

©

.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIL

o

ol



X
1=
1O

©

250

200

150

100

50

g

OO

PP PP R | P PEFETES B BT
02040608 1 12141618 2

P{eco/P:ruth [1500GeV,2000GeV]

X
=
o

1 ©

60

50

40

30

20

IIIIIIIIIIIIIIIIIIIIIIIIIIIIL

10

opTTT

%

P | P R B | I
0 1000 1500 2000 2500

PRI B
3000
P*°[GeV]

1=
o
1 ©

90
80
70
60
50
40
30
20
10

|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII+

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIr

PEETEETE B Era | B R
0 1000 1500 2000

uP
o [T

PR PR R
2500 3000

P"[GeV]



X
[5xY
(@)

©
T]x
J=
(@)
©

900E" E 1200f -
800 E - ;
700F- 3 1000~ J
600 :
500F = N ]
o00F ;
300F 3 200 3
200F- = C ]
100F- E 200 E
OE...I...I...I ..I:I.I'l.__l;...I...I...I...E 0: ................................ :
0 02 040608 1 12 1.4 16 1.8 2 T06200080004000B00050067000600060080000
P*°/P" [2000GeV,6000GeV] P GeV]
9
1000x:!.(')"'I'"'I""I""I""I""I""I""I""
800 -
600[— .
400 -
200 -
T N ]

100(200(B0004000500(5000700(30009000)0000
P*°[GeV]



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18


